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Physical Education

Paper 1II

IHiReR forer
gyAutreht 11

Time Allowed : 120 Minutes]

Note

Bkl

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U SRd. @d U Wi

: This Paper contains Hundred (100) multiple choice questions. Each question

: I GEAUREE THU SiUT (100) TgTart w9 feorel sed. Yodish UeAren 2 (2)

1.

Aim of sport training......................
(z) Physical fitness or conditioning
(i1) Technical skill

(zit) Tactical efficiency

(fv) Education

(A) (@) and (i)

(B) @), () and (iv)

(C) @), (i), (@ii) and (v)

D) @), (i) and (it)

Characteristic of sports training

(A) Planned and systematic
(B) Demonstration
(C) Participation

(D) Doping

(i) STIUETCHS  HIETHA
Gv) fererom

(A) @) i (i)

B) Gi), () 0 (o)

(©) @), (i), (i) o (v)
(D) @), @) =for (i)

[P.T.O.



Match List A and B and select the
correct option from codes given below :

List ‘A’
(1) Weight training work-out
(2) Cardio workout
(3) Stretching workout
(4) Holding
List ‘B’
(@) Core
(@) PNF
(i) Aerobic
(tv) Anaerobic
Codes :
o 2 6 @
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Tt A o7 St B Sesan oo @etta
e arg e e

et A’
(1) ¥R wfreor &t
(2) w3l &R
(3) A1 W FHE
(4) g€ 3T

et B
G) T
Gi) deUs
(iii) Tfsieh
(fv) STHLUTIH
Hehdieh :

o @2 B @

(A) (v) @)
(B) @Gi) (v)
(C) @) @)
D) @ @)

@) @)
@) @)
() @)
(@) (v)

A) Gv) @)
(B) @) (v)
(C) @) Gu)
D) @ @)

@@ @
@) @)
) @)
@) (v)

Calculate the THR at 75% intensity
for a 22 year old handball player
whose RHR is 60 bpm and who
wants to perform 30 min cardio
activity.

(A) 150 bpm
(B) 163.5 bpm
(C) 161.5 bpm
(D) 159.5 bpm

22 I AT RS WeargHl fasdt
@I B8 &L 60 2eh Ufd fafe a1gq
I 75% digad 30 Taf1e wifeeisusmn
SHYEAT 3. ST STUTERT T & Sl

(A) 150 3 gfaq fafte

(B) 163.5 3 Hfa fhaf1e
(C) 161.5 3 ufq fhfe
(D) 159.5 3k Hfa fhafe




The objective of flexibility training

is to improve the range of movement

(A) Agonist’s muscles
(B) Bulky muscles

(C) Protagonist muscles
(D) Antagonistic muscles

...................... form of training that is
most commonly used to improve

muscular strength and endurance.
(A) Plyometric training

(B) Core training

(C) Cross training

(D) Weight training

In training, load is not always given
for improvement but also for...........

of performance capacity.

(A) Conditioning

(B) Development

(C) Maintenance and stabilization

(D) Progress

JUN - 71220/I1—D

............... | BlAdA rqwlild EW %

SELCET IR LI S A ]
(A) STTEy &Y

(B) seehl EY

(C) FRMfe 1Y

(D) Sferities Fr

T e AN SHERYIEAT YHROETS!
SYATME AURT FAGTAT G TRT&T00

(A) <EMICH FIRTeTo
(B) o wfymeror
(C) Hig wfdreron

(D) YR gi¥rem

TIeTeTOTHE, YR e W GUROER
AR TR HREFeI=T ﬂ'l?spfg@
feen <.

(A) gfeerdt

(B) o

(C) wWivres T T
(D) Wt

[P.T.O.



10.

........................ is the relationship
between load phases and recovery

phases.

(A) Load density

(B) Load frequency

(C) Load intensity

(D) Load volume

Causes of over-training.................
(I) Recovery is neglected

(II) Inappropriate increase in

frequency of training
(ITI) Excess of competitions

(IV) Excessive bias of training
methods and units

(A) (III) and (IV)

(B) (D, (ID, (III) and (IV)

(C) D, (I and (III)

(D) IV), dI) and (III)
........................ is an athlete’s ability to

choose and perform the right
technics, at right time, successfully

regularly with minimum of effort.
(A) Load

(B) Style

(C) Skill

(D) Judgement

10.

JUN - 71220/11—D
OR <T@ orfur gAgiw <@ Irdra

1) YRS gae

(II) 9f¥1emr SRaRidd s 9@

IID) Tyt stfafaa g

(IV) gfireror gt ST sreshifaort Higan
TG Jarsg eadon

(A) (IID) sfor (IV)

(B) (I), D), (III) Afor (IV)

(C) (D), (1) =wfor (1I1)

(D) (IV), (II) emfor (II0)

g dedl, IRTHIC, A fhHm
TITEE A 73 egd wEAH ivdrH]

hISTIH] &THdl FEUrS]
(A) 9

(B) ¥eft

(C) =rere

(D) SIsTHe




11. Match the columns and select code :

List I
(1) Developmental research
(2) Longitudinal research
(3) Cross-sectional research
(4) Correlational research
List II

(1) Research that explores

relationships among variables.

(i) Study of changes in behavior

acCross years.

(zii) Research in which the same
participants are studied over a

period of years.

(tv) Research in which samples of
participants from different age
groups are selected in order to

assess effects of maturation.
Codes :
L @ B @
A) @) G@v) @) @)
B) @) @) Gv) @)
C) @ @ @) ()
D) @) @) @ @)
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11. WY B A0F Gehdieh el .

w1
(1) foemrarcas gened
(2) J@EE Feed
(3) wWEE™ HINHA
(4) TEHAYHER EREH
w11
() fafay ScmHeia Teday et
helel HNeH
(i) 3% FEfd BOA A Tegardl
3T

(i) 3T IT=AT HTATAENd THhTH
fqageRioR el UM Geed

(iv) fafay =T gfders e
TRTeer TROTH TS sheted
BENICE]

Hehdieh :

o @ G @

(A) @) Gv) @D @)

B) @) @) Gv) @

C @ @ @) ()

D) @) Gv) @) @@0)

[P.T.O.



12. A constant variable can take

13.

values :

(A) Zero

(B) Fixed
(C) Not fixed
(D) Nothing

“In the thesis
introduction, the researcher takes

preparing

multiple sentences verbatim from
some of the sources.” In this case
researcher is :

(z) Wrong to do so

(i1)) Wrong even if the researcher
provides a reference at the end
of the paragraph

(z11) Right if the researcher provides
a reference and a citation

(tv) Right if the researcher gives
the
quotation is indented half an

inch from the rest of the text.

reference and long

(A) Statements (z), (i) and (iii) are

true

(B) Statements (i), (ii) are true and

(zir), (iv) are false

(C) Statements (i), (i1), (fv) are true

and (Zi1) is false

(D) Statements (i), (iz) are false and

(zir), (iv) are true

JUN - 71220/I1—D

12. feR = o9 19 o/d :

13.

(A) =
(B) ffy=m

(C) eAffy=a
(D) TEE TR

“gyniea geerEt gEreE fatear

GRNYeh = el HeWiqT e faum

yIsET:/ddidd wdl.’’ A HEHEF

RS ET o

() ™ HO I AR

(i) HMYEN Saear 3idl Fed foen
TE o 0 TH 3T

(iii) FINERM SA=aHed g qaw
TegHiael ¥eY 0 SR I

(fv) GeNeeR™ Ty 0 AT FeX 3arT

SR AN %39 R (W) died

fafeor

faum 1), (i) 9 (i) TF TR

(A)

(B) faum (1), (i) 93 3T & (iih), (iv)

ITH 3T

faum™ (@), (i7), (jv) I 3T 9 (47)
I AR”

faam (), (i) 39 3Rd 9 (i),
(jv) T 3TRd

(&)

(D)




14.

15.

16.

In SPSS which menu item contains
the split file and select cases

command ?

(A) Data menu

(B) Transform menu
(C) Analyze menu
(D) Variable menu

A form of research in which the
researcher attempts to understand
how one or more individuals

experience a phenomenon :
(A) Grounded theory

(B) Ethnography

(C) Case study

(D) Phenomenology

In a study, participants are recruited
from local schools in urban area. The
study is conducted on saturday so
only the saturday working school

take part. What type of sample is
this ?

(A) Cluster sample
(B) Stratified sample
(C) Random sample

(D) Convenience sample

14.

15.

16.
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THITETE He hive e feere

Fec] 9 hild HAS MaS AT STHA ?

(A) Er1 3

(B) ZraH
(C) SremEs ¥
(D) =RTse #=

T fRar o e TEET e weh

STIHIA & THSTUATEIR! hetedl FRNeT

EEJL

(A) USUeE g
(B) TUAIUTHI

(C) =¥ el

(D) WATHATEATSIT

TR GENeAIG e 9diel nfeh

yesrmEie gfqaeemi=t Auuew/fae
HOA STl B AE Tl At
FHIOITT STl TS VTR <] ST
Y el BI% ISl § hIU]
Y RN SSTEL0 3R ?

(A) T=5

(B) T{a =t

(C) Igfosh =l

(D) TIHRT AR

[P.T.O.



17.

18.

19.

Multistage cluster sampling is

helpful when :
(A)

The population is widely

dispersed geographically

(B) You have limited time and

money to travel for research

(&)

You want to use probability
sample in order to generalize

the results
(D) All of the above

A correlation of or around zero can
be interpreted as which of the

following ?

(A) A curvilinear relationship is

present
(B) A linear relationship is present

(C) It could mean either no

relationship or curvilinear one
(D) No relationship is present

Setting the P value at 0.01 increases

the chances of making a :
(A) Type I error

(B) Type II error

(C) Type III error

(D) None of the above

17.

18.

19.

JUN - 71220/I1—D

T T8 ARYH 9gd A1 IRiErda
ERRECECECE
(A)

N N o N oA J
9—|I‘IIIQ’|°hC§_‘>d‘(’-II EECNGIS IS B SECE]
STHA™H

(B) qH=aThe WAl dos @ €INEA
JATEEEST HAifeq ATfefeh s

LA™

o [N fa fa
[AbenBie  HIHI[[en V[ nUdq[AH[S]

Y ey T A9
(D) aXicAtent |el

(&)

HeqaY od I Tha Y= Seea™

AT I 31w A ?

(A) IR Tay Al TR

(B) Uity Hey Ak e

(C) I 31 KUl e el 37eqE
IR T TSl

(D) HIVAET oY 3T@3d ATal

N O

P’ Hed 0.01 3eh i shear shem=i
Gurel oed ?

(A) 29 1 &
(B) <9 II 3
(C) <rE9 III Fet

(D) TeTUeh! hIvder &l

10



20.

21.

If the standard deviation of
population is 9, the population
variance is :

(A 9
(B) 3
C) 21
(D) 81

Match the following physical fitness
components with their respective
test :

List 1
(@)
)
(c)
d)

Cardiorespiratory fitness
Strength
Agility
Power
List II
Side step test
Medicine ball throw

(1)
(2)
3)
(4)
(5)
Codes :

(@)
A )
B) 5)
© @
D) 3)

Harvard step test
Pull ups
Bridge up

(b)
(1)
(2)
3)
(4)

(c)
(2)
4)
(2)
(1)

(d)
4)
(1)
%)
(2)

20.

21.

JUN - 71220/I1—D

A JHT fa=em 9 (7s6) STHead
S foued sas 8

(A) 9
B) 3
© 21
D) 81

Ieid IR ggedl Hcahiel T=l

FHYERER A Sieal Jeodl
RICU |

TR ggedt

LIET

femfsrgea

KiCxil

(a)
()
(c)
(d)
Tar 11
e W9 AR
ofefaq dfa @
Bele W9 Rl
(4) 9o ™
(5) forst 2™
Hehdieh :
(@)
(A) (3)
(B) (5)
©)
D) (3)

(1)
(2)
3)

(b)
(1)
(2)
3)
4)

(c)
(2)
(4)
2)
(1)

(d)
(4)
(1)
5)
(2)

11

[P.T.O.
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22. Select the correct answer from the | 22 w@refia wfEKa ST g w===

choice given below : frae 7

(I) Different activities in physical .
I IR feomde fafay sosRaN

education cannot be measured

AT Sseutl & T ATEl

objectively

(alla

(II) S Soft oSt eTeft Torehd

(IT) Rating scale defines a scoring

UGt SATHes a&(T58 HTIHTIA
system to help make objective

oo

TS FHL0AH Hed Tld.

evaluation more subjective

A 1) snfn (1) ¥ =R
(A) Both (I) and (II) are correct (&) <= D (In @ STe

(B) (I) is correct and (II) is wrong (B) (I) s{sR 3R et (II) = 3118

(C) (II) is correct and (I) is wrong (C) (II) =R 318 iy (1) <k 378

(D) Both (I) and (II) are wrong (D) BT (1) sfor (II) 9 3T

12



23.

Below are the norms of Bent knee
sit ups. Measurement of 21-year men
is 31. What is the interpretation of
this measurement ?

Men
Age 10-19 20-29 30-39
Superior 61 Above Above 54 Above 51
Excellent 51-61 47-54 43-51
Good 47-50 42-46 39-42
Average 41-46 38-41 35-38
Poor 36-40 33-37 30-34

Very Poor Below 36 Below 33 Below 30

Women
Superior 54 Above Above 50 Above 41
Excellent 46-54 44-50 35-41
Good 36-45 38-43 29-34
Average 32-35 32-37 25-28
Poor 28-31 27-31 20-24

Very Poor Below 28 Below 27 Below 20

(A) Abdominal
endurance is average

(B) Abdominal
endurance is excellent

(C) Abdominal
endurance is very poor

(D) Abdominal
endurance is poor

strength and

strength and

strength and

strength and

JUN - 71220/I1—D

23. eI hiewhmy s M fqesrw waRN

e feiedt 3R, 21 9% Far= geur

q99 31 3T I sreffa=q &y

ey
e 10-19 20-29 30-39
HEITI@Q 61 Above Above 54 Above 51
Kiv 51-61 47-54 43-51
=T 47-50 42-46 39-42
TR 41-46 38-41 35-38
HHt 36-40 33-37 30-34
Ta FH  Below 36 Below 33 Below 30

AfgeTT
TATHE 54 Above Above 50 Above 41
Kiv 46-54 44-50 35-41
=T 36-45 38-43 29-34
HER 32-35 32-37 25-28
HHT 28-31 27-31 20-24
Ta HH Below 28 Below 27 Below 20

(A) YR dreng ST SHERTON HTER0T
3T

(B) Werdia drehe 31for gHerRyon
Tl T8

(C) URKdiel dihg ST RGN &Y
HH 38

(D) TRKA dehg A0 SHSRYN ShHT
3T

[P.T.O.



24.

25.

26.

The meaningfulness of a sports skill

test lies in its being :

(A)

Measured in a game like

situation
(B) Highly valid
(C) Extremely reliable
(D)

Representative of sport

When same test administered on
same sample by two different

administered is called.....................
(A) Validity

(B) Reliability

(C) Objectivity

(D) Norms

What do psychological tests attempt

to measure ?
(A) The total person

(B) Specific set of attribute of the

person

(C) Characteristics of psychic

nature

(D) All of the above

25.

26.

JUN - 71220/I1—D

(A) wui gRfterdmg g

(B) 3=9 99

(C) Iq favaaa

(D) ®eeret Hfarrae HIomT

S8l TWehd Shdld! Tehlg —AEIMel SH

ATl SHIEAIR AR Tl SId

AESTSE Shaedl s {939

HAE ?
(A) Hqui =it

(B) =eiten Turemten faftrte 9=

(C) AMfE® [uEr i

(D) TAYhT T

14
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27. How well the item differentiates | 27. TR foeneff o =l goR fomnefl A=Y
between the good student and the gyq fordl =TTl fy=ar evifadr <™
poor student is called...........cccoeeeeee. | e 3 EUArd.

(A) Item discrimination (A) IR e HTEIHal
(B) Item difficulty (B) ¥ATEl ShifSTHUTdC
(C) Item revision (C) JeATEl QAUS]
(D) Item consistency (D) U AT

28. What is the appropriate sequence of | 98 R HEIeIT HTEUTT FHIA A
administering psychomotor test ? F9 FO@ 2
(1) Develop a test schedule (1) HEeI™ JTsleh faehf&d Lo
(2) Interpret test result (2) wareT e StedfTa=m o
(3) Provide all necessary 3) S g o

equipments
(4) wHORA™ AL H)
(4) Administer the test item
Wehdich :
Codes :
(@ b)) (© @
(@ b)) ©© @
A @ D @ @ @@ @@ 6
B) 3 @ @O @ B 6 @ O @
©C @ 3 @ @ <c O 68 @ @
O @® 6 @ @ D @O & @ @)
15 [P.T.O.



29.

30.

31.

Which of the following is not site for

skinfold measurement ?
(A) Subscapular

(B) Suprailiac

(C) Shoulder

(D) Abdominal

Which of the following is not
affecting measurement while

administering psychomotor test ?
(A) Clothes

(B) Scoresheet

(C) Subject’s emotional state

(D) Test knowledge

Which one of the following is an

example of a performance goal ?
(A) To win the competition

(B) To improve your technique
(C) To beat your personal best

(D) To please your coach

29.

30.

31.

JUN - 71220/I1—D

qEIcTdehl hIvIAT ST/ AR fehThics
AOAHY AR ?

(A) FIEHIH

(B) Gl

(C) Tieey

(D) SHareffiTa

FHEH FHESITD FIEMTT  HIAT]

JEITdeh! SRV HIZehTaT AIIATER TR
T A ?
(A) T

(B) OIS
(C) fommeat=nt waftsr feerd
(D) HERNE IH

WATAUh! HIVA Th HEYSIH &4
e ?

(A) Tyt S

(B) Tl O3 GURUAES!

(C) TTUel Safedsh Halt® AT
UM

(D) ST9eAT TRI&RAT HI Hol

16



32.

33.

The process of development of
strategy to achieve desired objectives
to solve problems and to facilitate

actions is known as :
(A) Organization
(B) Administration
(C) Planning

(D) Management

Which one of the following is an
example of a health and safety
consideration when setting up a

fitness test ?

(A) The same person records the
time taken to complete the test

by all the athletes

(B) The weight training equipment

is checked before being used

(C) Each person performing the test
is encouraged in exactly the

same way

(D) All those performing the test
should try to be the best

32.

33.

JUN - 71220/I1—D

T RIS oS eTfor et

Ay wvgrEel sfoed 3fese wied
HLOIEST R fasrmE=n e ¥
AR :

(A) e
(B) 99mEA
(OREEISE

(D) =FTEAIT

fheg = 92 HIAHT W] hiv
Teh TR ST YRIeTad IR0 378 ?

(A) THN FHIE Fd Ceole oAl dose
dig Yo
(B) IS WRTEU IYHL0 ATRTATTET

RIS KISIGI]

(C) ITITN HIOM=IT Ycdeh I

ThHORE e el SId

(D) ITITR HIOM=IT Fel=1 FaiwH

HLOIE] TS el dIfEs

17

[P.T.O.



34.

35.

36.

Which one of the following is an

example of an outcome goal ?

(A) A tennis player trying to

improve his serve

(B)

Trying to win a net ball match

against a local school

(C) A footballer trying to improve

her shooting technique

(D) Trying to outwit an opponent

when passing the ball in
basketball

Total no. of matches in Round Robin

Tournament is found by :
(A) (N — 2)/2
(B) N(N - 1)
(C) N(N + 1)
D) (N + 2)/2

How many byes are allotted to 11

teams playing Round Robin

Tournament ?
(A) 15 Byes
(B) 6 Byes
(C) 8 Byes

(D) None of the above

34.

35.

36.

JUN - 71220/I1—D
TICATEUhT IV SeTeul TR &3
Mg ?
(A) T 279 ware @t 9fds
GURUITET YT FHd ST
(B) ¥onfier el foeqy Hedia 9

fShTM=T Y id 3T

(C) Th Hearaue o= e o=
GURUITET YT w3

(D) Rehediced Ufdgsl e g higd
WQE Uil A

e Ul meie TehYT =Tt SeA 3Tef

Fea T

(A (N - 2)/2

(B) N(N - 1)
(C) N(N + 1)
D) (N + 2)/2
T3e Ul wae 3TRYT HETHTS!

o

[aV
lehdl

o

[l a2

CIES
(A) 15 =S
(B) 6 @S
(C) 8 IS
(D) aCTUhT FHIOTET AT
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38.

39.

40.

(A) 40, 60, higher
(B) 5, 10, higher
(C) 5, 10, lower

(D) 40, 60, lower

Which of the following is not a
strategy for behaviour change in
school setting ?

(A) Behavior contract

(B) Token system

(C) Reprimands

(D) Behavior games

climatic

Geographical and

conditions should be considered
when planning :

(A) Indoor activities

(B) Outdoor activities
(C) Child activities

(D) Old people activities

Throughout the history of sport
facility financing the money to build
facilities is wusually obtained
through :

(A) Taxes
(B) Bonds
(C) Corporate investment

(D) Facility revenues

37.

38.

39.

40.

JUN - 71220/I1—D

afedi=n 9 FATET < YEOIYET
%

(A) 40, 60, STET

(B) 5, 10, SI&T

(C) 5, 10, s

(D) 40, 60, !

MY faeneat=n Jda sga HITAEe]
qElcTieh! IV STEd< A&l ?

(A) I

(B) T ugdt

(C) dmhig <ol

(D) o 95 €

¥ T sar diferes sfor garmmEn
=R San et

(A) TSR SUHH

(B) 3TS<¢eR SUHH

(C) oA Towmamenan

(D) Jgaih ferameha™

Hiel glaun faaqeer=n qvl sfagmem,
T8 iyl glaen 9mea: aRen
THesaett SaM

(A) X

(B) dveq
(C) wfURe Tqavh
(D) gfaen Aegd
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41. Match A and B, and choose correct

option :
‘A’

(Olympic Year)

(1) 2012
(2) 2020
(3) 2024
(4) 2028
B’
(Host)

(i) Tokyo, Japan
(i) Paris, France

(iii) London, England
(i) Los Angeles, USA
Codes :

1 @2 B @
A) @) G) @) )
(B) Gii) G) G (o)
© @& G G Gii)
D) @) G) i) (o)

JUN - 71220/I1—D

41. A =01 B Sowan o1 ATE qE(A

faer -

‘A’

(aTifeifues o)

(1) 2012
(2) 2020
(3) 2024
(4) 2028

B

(3TTHTSTeR)

(@) SAfeRdl, SUH
(i) wWE, B

(iii) @<, TS

(jv) AT TSfe™, AR
Hehdich :

1 @ 6 @
A @) ) @) Gv)
B) @) @ @ (o)
C) & @ Guv) @)
D) @ @ @) (o)
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42.

43.

44.

45.

The recreation process leads to :
(A) Having Fun

(B) Happiness

(C) Saving Money

(D) Socializing

Which one of the following is a social
that affect
participation in physical activities ?

(A) Family

reason might

(B) Equipment

(C) Weather

(D) Facilities

Recreation is defined as :

(A) The process of giving new life

to something
(B)
(C)

Bonding with mother nature

Any process that is non-work
related

(D) Socializing with two or more

people

Countries that have organised both
Commonwealth and Asian Games :

(A) India
(B) Malaysia
(C) Indonesia

(D) Japan

42.

43.

44.

45.

JUN - 71220/I1—D

RS Ufshares § e Ad

(A) ST T

(B) &g

(C) T& ar=Em

(D) EHISTRTeRTT

IR SUHHAT HEWHT Hoge TR

ORGSR 0T hIvd 2

(A) HH
(B) U0
(C) TamH

(D) gfaen
TARSH ® o uRwifoa sl oTe

(A) FEH Sfed <uamEt Wi
(B) frerieht 910 Jaum
(C) HIUMRT Haiel THAe Hishan

(D) <M fohern AR TRE THISTeh IS0l

TSR 9 AR Vel ST hetel
3

(A) 9Xd

(B) At

(C) TEHferam

(D) SUE
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46.

47.

48.

49.

The state of mind body response to

a situation is :

(A) Stressor

(B) Stress

(C) Anxiety

(D) Stimulus

Super compensation means :
(A) Fatigue

(B) Second wind

(C) Adaptation to load

(D) Oxygen debt

In comparison to other growth stages,

infancy is more a period of :
(A) Fast growth

(B) Consolidation

(C) Mental development
(D) Social growth

How many verticals have been
created in Khelo India Programme
introduced by the Ministry of Youth
Affairs and Sports ?

(A) Ten verticals
(B) Eight verticals
(C) Twelve verticals

(D) Five verticals

46.

47.

48.

49.

JUN - 71220/11—D
fRfEerdien TS gfaae feed.....
g TR
(A) dTU1 Yeldeh
(B) dome
(C) fem
(D) =<
YW FHIATHH BN
(A) geher
(B) Whe fas
(C) Wl S[eauit
(D) WU S

FCATER T X ATE UM et

Sl STEAT & hIoaTael el AR

(A) T el

(B) WahsreRomei
(C) THfgs fammEmrt
(D) wEIfSeh SRS

Tes ST gl HwRihH e g HfHa
‘Sl fean’ grmHme fondl aféae™ TR
el 3Ted 2

(A) @ dfhed

(B) 3T dfehed

(C) 9 afdsha™

(D) 9= afidmed
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50.

51.

52.

When catching a ball your hand

knows when to grasp because :

(A)

Your parasympathetic nervous

system inactive

(B) Alpha waves are being
generated
(C) Participating muscle receive

efferent signals from the brain

(D)

Afferent signals inform your
hand that the ball is about to

make contact

The connective tissues surrounding

the fibres or cell is......cccccueeeeene.
(A) Perimysium

(B) Epimysium

(C) Endomysium

(D) Myofibrils

A minimal stimulus causes the
individual muscle fibre to contract
to the same extent that a stronger
stimulus does, this phenomenon is
called.......ccooevveeieeriennne

(A) All or one law
(B) All or none law
(C) All law except one

(D) None law except one

50.

51.

52.

JUN - 71220/I1—D

<E g qESAT BIAen o el

THEREl § hIMs hosd 7

(A) =it eIfT=sredt TEeR

SUTAT HATHET HIH HEA

(B) 3TTH WE ICI-TaHes

(C) FeuRg et Eom=T HeheaR
g TEATS

(D) T <1 T oMY Hebdieh Hfect
ST gear qes

................... O —

(A) THEREH

(B) TfaHmaferm

(C) TSmmEferTs

(D) WTETREfSE

e el fRuH Sfeunge TEq

faderra strRfad gl fSident AT

3fETes B, O e WUN

(A) Td fopen wahmn M

~

[4H

(B) §d fawmar v Td)

(C) gat=n =8 TRt ITegH

(D) “hiotae el 2| Tohten aTe
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53.

54.

55.

The intensity of work load or oxygen
consumption in which anaerobic
metabolism is accelerated is
called......cccoovuueeveeenen..

(A) Aerobic threshold

(B) Anaerobic threshold

(C) Metabolic threshold

(D) Lactic acid threshold

Contraction of the.................. muscles
elevates the first two ribs to help

during inspiration.

(A) Sternocleidomastoid
(B) Trapezius

(C) Extensors to back

(D) Scalene

As the right ventricle contracts,
valve closes,
preventing blood from back flowing

to the atrium.
(A) Vena cava
(B) Tricuspid valve
(C) Bicuspid valve

(D) Pulmonary valve

53.

54.

55.

JUN - 71220/I1—D

FTEVRTA diadd fwenm grorarg=a

SIS TTUTRR S S Ier=iHes @Rl

(A) UEE IvRiee
(B) UIUETied dvEes
(C) =FAT=d YvalcS

(D) TY 3T IvaleS

YA I G R o]

3TATITE  HTH
(A) EAlFRAEmEEe
(B) <fufsrag

(C) drdiell TR &
(D) hetd

o
[

hiv

Flhe &l Sodl JaE B T

RISICISNIESECIBSCIREiE CacE I IER

(A) Frem (S )

(B) forea

(C) fogw

(D) BFRAGRS U= Afctehl
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56.

57.

58.

In extremely hot weather, the fluid
needs of an active person increase
by about :

(A) 2 times normal

(B) 3 times normal

(C) 6 times normal

(D) 10 times normal

A calorie is equal to the amount of
heat required to raise the
temperature of one gram of water

1°C and that difference is precised

(A) 14.5°C-15.5°C

(B) 20.5°C-21.5°C

(C) 0°C-1°C

(D) 37°C-38°C

One of the following does not belong
to fatty acid........................

56.

57.

58.

JUN - 71220/I1—D

TSI 301 TAHMI, TohATRITe SHaRite
SaTe TS AR fohelt FHOMG aTed 2
(A) T GHOTAT THE
(B) €W yHTOTEA fqure
(C) 9M= JHIOT=AT Helie

(D) "MEMAT JHIUAT Gglde
Teh UM 9109 d9eE 1°C 1 SrefauarEre
AN 37 Soll 8 Teh ol 379 T

(oSl

...................... @T Clll‘ll'“"”\'l |..“ -qd

(A) 14.5°C-15.5°C

(B) 20.5°C-21.5°C

(C) 0°C-1°C

(D) 37°C-38°C

Y ALY WA TAUh] TehT=l THEIT

(A) Stearic acid (A) Teafw e
(B) Oleic acid (B) siciah 3=
(C) Ascorbic acid (C) 3T&hifder 3T
(D) Palmitic acid (D) uaifafes
59. Laboured breathing is known | g9 eeemft gegmmer T A
ASurerereererrerereererereresrenens (A) VO,
(A) VO, max ®)
(B) Dyspnea
. . (C) =|MEeA Hehdl
(C) Vital capacity )
(D) Second wind (D) ¥ foe
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60.

61.

62.

FTA fibers are......cccccoecueeeeeene
(A) Oxidative

(B) Glycolytic

(C) Oxidative-Glycolytic

(D) Unclassified

Sideways bending of trunk is a

movement iN.........cceeeeeeueennnee.
(A) Frontal plane and Sagittal axis

(B) Sagittal plane and Transverse

axis

(&)

Frontal plane and Transverse

axis
D)

Sagittal plane and frontal axis
The following bones form the elbow
joint :

(A) Scapula, Radius, Ulna

(B) Radius, Ulna, Humerus

(C) Ulna, Humerus, Scapula

(D) Humerus, Scapula, Radius

60.

61.

62.

JUN - 71220/I1—D

FTA Fiq\ %A .................. 3:“%?[’
(A) eAferaefess

(B) TR

(C) 3fferaefesg-TaThicries

(D) TR

CENCIE GG IC e L S Sl

T g

(A) T<d Gdd d 9SIed A

(B) 99¥ed WAl & o9 378

(C) e Tada o IrEed 318

(D) GSHEA 9ded 9 Thed Y

HIGET e B @il Bl Toial

Tl

(A) THYell, TSI, el

(B) {Eier, 3eHl, SHRY,

(C) 3T, TIHRY Tha

(D) TYIH, THYdI, LT
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63. In case of second class lever force | 63. TEA Y= THHEN IEKITYST & Ufdeh
ATM I1S.iieiiiinininininennes than the W&ﬂ .................. e
resistance arm.
(A) <&M
(A) Shorter
(B) W& <&
(B) Longer
(C) Equal (C) wHM
(D) All of the above (D) et &
64. The formula used for calculating | 64. TS STl HISTOIEIS] RIKSEIE]
kinetic energy is.........cccoeevevevenee. ST A
(A) mv (A) mv
(B) muv? (B) mov?
(C) Yo mu (C) s mu
(D) mv2 D) V% mv2
65. m/s is the SI unit of.................... 65. T/ T =1 T, . A
(A) Speed and velocity (A) TR T AT
(B) Speed, velocity and acceleration (B) T, 3 § @0
(C) Speed, but not velocity (C) T, wOr S A
(D) Velocity, but not speed (D) <, 9 Tl AR
66. Earth’s gravitational acceleration | gg pEie W T ee L1 AR o
IS.iiiierrreeeeeenreeeeeaneeees
(A) 3.14
(A) 3.14
(B) 14.28 m/s
(B) 14.28 m/s
2
(D) 14.28 m/s? (D) 14.28 m/s?
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67.

68.

69.

70.

At the time of release of Discus :

(A)

Centripetal force is more than

centrifugal force

(B)

Centrifugal force is more than
centripetal force

(C) Centripetal and centrifugal

forces become zero
None of the above

(D)

Lift force created by spinning object
is called.......ccouveeurrennnenns

(A) Newton’s Law

(B) Dalton Law

(C) Magnus effect

(D) Buoyancy

Top spin causes.........cevvvvvvvvveveennes
(A) Decrease in height of bounce
(B) Increase in height of bounce
(C) Decrease in speed after bounce
(D) None of the above

Range of motion of a joint is

measured by an instrument

called.......cooovuueneeenn...
(A) Pedometer
(B) Goniometer

(C) Accelerometer

(D) Radar Gun

67.

68.

69.

70.

JUN - 71220/I1—D

et ST ddd

(A) HIAERT e HFIFH TATIET ST
19

(B) eIt ST Sha e SeiTien ST
19

(C) hHAIERI & T WFTH & I Brard

(D) KU HIUAEl TRl

fthteh! T S T B S=aTetsh

(B) ST 3= e
(C) SHSHM® Tl T2
(D) iAYeh! ShIUTal A&l

"""""""" =1 9T g eaTHend
gl fodr= /99 el 4.

(A) TSI
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71. In sports psychology, mental | 71. SIel ARG HHES G0 T
practice means : | e
(A) Mental Planning (A) A e
(B) Mental Rehearsal (B) HHE® &
(C) Mental Strategy (C) M SEdaeHd]
(D) Mental Image (D) wHEfaS gfaH
72. Time perception is a...........eevvuennnn. 72. RISy 3l E
(A) Psychomotor ability (A) HERTIh &THdT
(B) Fitness ability (B) {gedia™d
(C) Motor ability (C) hIh&rHdl
(D) Functional ability (D) TATcHeh &1l
73. Competition and cooperation is.......... 73. WYl oMo ek oYU 3R.
(A) Biological motivation (A) ST IXon
(B) Psychological motivation (B) AMERTSE o
(C) Secondary motivation (C) =4 0T
(D) Social motivation (D) wrHIfSTeR UXoT
74. Encouragement by spectators is a: | 74. U&HIgR HBIR Wewmed & TS
(A) Social incentive (A) HHIfSIR  GIcHTgH
(B) Monetary incentive (B) omf¥feh Wreared
(C) Reward incentive (C) aferd Yieamsd
(D) Social competitive incentive (D) |HISeh hiskHe FledmeH
29 [P.T.O.



75.

76.

Attitudinal changes occur due to

(A) Cognitive learning

(B) Effective learning

(C) Affective learning

(D) All the above

Match List I with List II and select

the correct answer from the codes

given below :
List I
(1)
(2)
3)
(4)

Motivational theory

Play theory

Learning theory

Personality theory
List II

(z) Psychoanalytic theory

(i1) Attribution theory

(zit) Social learning theory

(tv) Operant theory

Codes :

L @ B @

(A) (v) @)
B) @ @)
(C) GiD) @)
D) @ @

@ @
@ii) (@)
@ (o)
() (D)

JUN - 71220/I1—D

(A) FAMICHE TEIIA
(B) SleITcHer ST
(C) wEIcHesh 31T
(D) =« |4t

76. ATF Sl Jeodl

et 1
(1) U= S
(2) el IUOh
(3) TEHIH 3UU

(4) HAfFHE I
e 10
@) HAIEgeAoT STt
(i) TETORTS ST
(iif) ISR STead 3quit
(fv) 3T ST
Hehdich :

L @ B @

(A) (v) Gu)
B) @ @)
(C) @) @)
D) @ O

@) @)
() (i)
@) (@)
() (i)
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77. In skill learning the information

78.

processing model is comprised of four
components. Arrange them in

sequential order :

(I) Decision-making

(I) Input

(IIT) Feedback

(IV) Output

Codes :

A O dn dIn av
(B) dIn avy)y an @
© an @ avy din
O av) am @

Cognitive process consists of :
(I) Sensation

(I) Thinking

(ITI) Perception

(IV) Problem solving

Identify the correct sequence :
Codes :
A) @D
(B) (II) aIv) @
(C) av) IO dII D

(III) II) (IV)
(I1I)

D) I dn av) @

JUN - 71220/I1—D

77. HINCA AT Hifed! Fisham T

78.

TR = GHEY ST M A0 HHM
oA

(1) fofa w0
(1) SR
(I1T) Fren o
(IV) ietd
Hehdich :

A @O dn
(B) (III) (IV)
© an @
(D) (V) (IID)

(III) (IV)
In @

(Iv) (11D
D dD

IECHE Yfshadd Jélal Hceh FHIfOS
STHAT ¢

(I) Hae

(I1) fo=m =
(I11) sl

(IV) g8 SeA
I %A e
H@‘dﬁﬁ .
(A) (D
(B) dn avy) (I I
(C) av) (I dID D)
(D) (IID) (A1) (IV) (D)

(III) dI) (IV)
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79.

80.

Match List I with List II and select
the correct answer from the codes

given below :
List I
(I) Inverted U hypothesis
(II) Aggression
(ITI) Leadership
(IV) Motivation
List II
(1) Achievement
(2) Autocratic style
(3) Anxiety

(4) Instrumental

Codes :

(O dn dm (av)
Aa O @ @ @
B @ & @O @
©c @ O @ O
) & @ @ @

In the childhood, individual’s
behaviour is most influenced by :

(A) Community
(B) School
(C) Peer group
(D) Family

79.

80.

JUN - 71220/11—D
AT ST A

et 1

(1) 3 g YRehed

(II) 3TThHh
(I11) et
(IV) S

g 11
(1) HueA
(2) THHRMERICA
(3) feam
(4) wMEA
Hehdieh :
@
(1)
4)
(2)
(3)

(ID)
(2)
3)
(1)
(4)

(ITD)
3)
(1)
(4)
(2)

(Iv)
4)
(2)
3)
(1)

(A)
(B)
(&)
(D)

AT, TATTRTT T T vveveervennnn Rl
A Fgurfad Bid.

(A) 99
(B) =mest
(C) F&art e

(D) g
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81.

82.

83.

Which of the following is not a
scheme program by SAI for sporting
talent ?

(A) NSTC
(B) SAG
(C) SGFI
(D) SPDA

Which of the following are the levels
of programmed instruction ?

(1) Memory level

(2) Understanding level

(3) Observation level

(4) Recollective level

Codes :

A) (D), (2), 3)

(B) (2), (3), (4)

€ ), 4), (1)

D) (D), (2), 4)

Philosophy of Experimentalism has

81.

82.

JUN - 71220/I1—D
el yfay s (FR) YRGS W

oY AN o N a N
YR Lom=l @eiicidehl ShIvTt Jrei ]

A& ?

(A) TACHE
(B) wEUsH

(C) TESIUHTA
(D) THUET

TSR ST WIGTeTieh! ShIvNd WX

e ?
(1) Hia &R

(2) MY TR

(3) Tieror =

(4) faa =R
PR

(A) (1), (2), (3)

(B) 2), (3), 4)

) 3), @, (1)

D) 1), (2), 4)

T ?
given rise to : 83. JIANTETRTAT dwolMIqT & W BId
(A) The basic theory of curriculum (A) STHTHHAT qAYd SEEL!

(B) The realistic theory of - - -
. (B) AHPHATH ARG 39T
curriculum
(C) The instructive theory of (C) TSN STSTMAS ST
curriculum
(D) The make shift theory of (D) SIEATHHATHT  qC  HTTATHI
curriculum 399
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84.

85.

Which of the following was the first
to facilitate the introduction of
Modern Physical Education in

schools ?

(A) The plan of physical education

and recreation
(B) N.C.E.R.T. syllabus
©)

National Fitness Corps

(D) National Policy of Education,

1986

Activity based tools of teaching

are :
(1) Exhibition
(2) Demonstration
(3) Slides
(4) Musical instruments
(6) Tours

Codes :

A) (1), (2), 3), (4)
(B) (1), (2), (4), (5)
(C) (2), (3), (4), (5)

(D) 3), (4), (6), (1)

84.

85.
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T MBI STYeh ieh fRrgrom=n

YR IO SITeiTeTdeh! Shivrdt TEIT 3118 ?

(A) TARSH 3o skifer fereqor g

(B) TAHREARS USIsHH

(C) U |Rk e

(D) T freor e 1986

FRATATE] FHidgeRdt WA WTeATaTdshR
AR -

(1) weeiH

(2) YrcAtereh

(3) URERM Y&TH
(4) S YT
(5) el

Hehdieh :

A) (D), (2), (3), 4
(B) (1), (2), 4), (5)
(©) (2), (3), 4), (5)
D) 3), (4), (5), (D
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86. Which of the following is an apex | 86. WRdAM Wl WHRT SO @eiiciush
body for promotion of sports in the RoTER T FOET 2
country ?
(A) TATTHITE
(A) LNCPE
B) TAUHUASTEUH
(B) NSNIS (B) TILHTIART
(C) Khelo India (C) @i zfe
(D) SAI (D) 4%
87. Which of the following is not | g7 wErciicisT I sTs USF=AT FASHMS
considered in lesson planning ? IJq @ ?
(A) Age and sex (A) F9 sTfor o
(B) Progression (B) =edt Suft
(C) Warming up (C) SisTsh BleTaTed]
(D) Teacher experience (D) STAIRT A9
88. Which of the following activities 38, ‘i,“:'("q\‘*q' AT ITFH T
emphasizes use of a locomotor NI ST WA 2
skill ?
(A) SIfaren dremaR Terdi ol
(A) Galloping to music
B) =T Aeial dfdl Srerol
(B) Catching a rolled ball (B)
(C) Swinging from a bar (C) amel FeHog T =
(D) Pivoting to catch a ball (D) dfetell Sod foedifen =
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89. Which one of the following is not a

90.

characteristic of an effective PE class
climate ?

(A) Providing feedback

(B) Giving freedom to choose
designated learning task

(C) Long waiting time
(D) Small sided games

Match the List I with List IT and select
the correct answer from the codes
given below :

List I
(@)
)
(c)
d)

Developmental exercise
Games
Rhythmics
Aquatics
List II

(1)
(2)
3)
(4)
Codes :

(@)
A @)
(B) 4)
(C ©3)
D) 3)

Lead up games
Synchronised swimming
Yoga

Skipping

(b)
(1)
(1)
(1)
(4)

(c)
(2)
(3)
4)
(2)

(d)
3)
(2)
(2)
(1)

89.

90.

JUN - 71220/I1—D

qEcTieh! ShivTal TOTEH et T

FrSTdTEROT=T a2

(A) TR 20

(B) gdfafy=a stemem wmEt«=E fes
HOIE WA

(C) < wfaen wrermaed

(D) Siedl A ©los

IR 19 IRt 11 Jad @i
Gehdieqd ara v faer

Iqrar 1
EEALSIRIEME TSI

T

dlcisls {IHH

o

S [Sll

(@)
(b)
(c)
(d) STeIdIun
It 11

Th ©D
A gl
(3) =m
(4) SRie= IS
Hehdiah :

(@)
(A) 4
(B) )
(C) 3)
D) (3)

(1)
2)

(®)
(1)
(1)
(1)
(4)

(c)
(2)
(3)
4)
(2)

(d)
3)
(2)
(2)
(1)
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91.

92.

93.

What kind of health education shall

have ready acceptance and

voluntary following in all sections of

the society ?

(A) Theoretically strong health

education

(B) Government sponsored health

education
(C) A need based health education
(D) A well charted out health

education

Which of the following is not a
preventive approach for substance

abuse ?

(A) Legal

(B) Educational
(C) Communal
(D) Community

The inadequacy of which of the
micronutrients can lead to colour

blindness in the human beings ?
(A) Iodine

(B) Chlorine

(C) Vitamin-A

(D) None of the above

91.

92.

93.

JUN - 71220/I1—D

SV W fneonen IS 9

faumTqa 3R wishdl o U deees
faesd 2

(A) Tagifaer woem e fago
(B) TR UEIfSIa o forero
(C) TS ofenia Tareen faero

(D) TR sAfeeprgsa @ren forgm
WA ShIo 29 TRETR Tesvarei

PINERIRECTRE R I | N
(A) HHEEMN
(B) Werforen
(C) wrcTfash
(D) ST

IV Y&H UIOeh HhTAT S0
AT WSS Ad 2

(A) erEfed

(B) FARIA

(C) SirerHwe-21

(D) SR HIodEl el
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94.

95.

96.

97.

Which nutrients are essential for
growth and repair of muscle and
other body tissues ?

(A) Proteins

(B) Minerals

(C) Roughage

(D) Vitamins

Obesity does not cause :
(A) Infertility

(B) Malaria

(C) Diabetes

(D) Ischaemic heart disease

Health means maintaining..............

in some factors.

(A) Continuous movement
(B) Continuous balance

(C) Continuous priority

(D) Continuous modification
Name the disease which is

categorised as psychosomatic

disease :

(A) Diabetes
(B) Asthma

(C) Tuberculosis
(D) Smallpox

94.

95.

96.

97.

JUN - 71220/I1—D

RIUTT HIehaales IR 1@ T
T T IR age gEd el ?

(A) Wi

(B) @<l

(C) =nenm

(D) SiteeTe

(A) ST
(B) feaam

(C) HYHg
(D) T AYE! gd faaR
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98.

99.

100.

By what method do children, in the
first instance, acquire habits of

personal cleanliness ?
(A) Classroom instruction
(B) Interaction with peers
(C) Constant observation
(D) Literature study

Which of our needs does recreation

not satisfy ?

(A) Wealth need

(B) Need for affiliation
(C) Achievement need
(D) Aesthetic need

Which of the following activities

cannot be treated as recreation ?
(A) Collecting coins

(B) Angling

(C) Sitting

(D) Hiking

98.

99.

100.

JUN - 71220/I11—D
SfeReh el Had SIIehE SHaedl
TS FEyeH g dan 2
(A) T =
(B) fmeia Harg
(C) Tiaron @

(D) drEHT AE

SHIVTCAT SATICHT TS FARSHRA e B
L
(A) Foft /S

(B) HerIehom= TS

(C) =M= T’

(D) TeAtarst T

WA TeTieh! SIvc] FeRATehaTd = FARSH
e eRAl AR ATE ?

(A) 7oft "

(B) W eRUGTE el

(C) =&ul

(D) HIHEHT
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ROUGH WORK
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